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( ) 13K sin20° - cos40° + c0s20° - sin40° = (1)% (2)% (3)? M1 .

( ) 2.7 P(cos10,sinlO)IZLfEFHERIR?  (D— = ()= @M.

( ) 3 EHIAABC HEE S 12, AB=6, AC=5, LA B#if, ¥ cosd = (1)% (2)%
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( ) 4. THIEZHIE L cos( — 675°)HYEAHE?  (1)cos135°  (2)sin( — 135°) (3)sin( — 315°)
(4)c0s225°  (S)LIEEIE .

( ) S.AABC T, ~C=90°, ~A=40°, CDFEH ABX D, EA1AB=«, KCD= (1) a-
sind0° - c0s40°  (2) & - tand0° - sind0°  (3) - tand0° - cos40° (4) & - sin*40° (5) a-
c0s240° .
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( ) L NHIEIEHEE Z 47° M [E R E? (1) - 673° (2)—333° (3)403° (4)767° (5)47° + n x

360° . (n ByEH)

( ) 2. NFIEERTA /NS, WREE T ERERY?  (1)sin50° < c0s50°  (2)sin40° < tan40°
(3)sin40° < cos(—40°) (4)sin140° < cos140° (5)cos50° < tan50° .



( ) 3 NHI=rekEryE, PR ERERT?  (D)sin1200=—"

tan240°=—/3 (Htan0°=0 (5)c0s270°=0.

( ) AEH 0 RS =R A, Ecose_—— R 51 fe] =& [EHE?
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00526’=§ (3)tan20=-3J7 (4)00526’=—§ (5)sin20=—

g , 90°<x<180°, FHIfEFEEE? (1)cosx =g
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QIENABCH, ~B=41°, /C=79°, % BC =6, H|JAABC {NYNEEIHE

3EHEA 0 DUFEE R IERS, DL x BRAVIER RA6iE . 75 0 HYs%E LA —H&h P(—4,6), K sin(180° -

6) + sin(6—90°) = .
4.3k sin120° - c0s30° + c0s270° - sin150° + tan225° - sin210° =

58% a , pEHAEREssina %, sin ,B_\/_ HI a-pB=
6.4 A ZHRAARE (2 , 240°], RIEE AR L,

740 FIEIREH ABCD t, AD=CD=5, BC=10, 6 J3dif, ﬂsina=g

8E‘,§Dsin0—cos¢9=%, 3K sin2 =

, 2K cos 0=



9.NABCH, BE4la=8, b=7, ¢=5, K/ A\ABC V& B

03 @ BAEZSNGE, § RAENENS, Heina=-3, cosp=2, Ksin(a+f)=
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